Multiplying and Dividing (A)

Calculate each product or quotient.

42 =+

56 =+

42 =+

20 +

10 x 7

90 =+

9 x 10 =

24 +

63 =+

7 x 10 =

6 x 10 =

12 =+

16 =+

24 +

36 +

7 x 10 =

10 =+

30 +

90 + 10 =

10 + 10 =

56 =+

24 +

3

4 x 10 =

72 =+

72 =+

10 + 10 =

40 =+

28 +
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Multiplying and Dividing (A) Answers

Calculate each product or quotient.

= 70

10 x 7

= 25

10

90 =+

81

12

7 x 10 = 70

6 x 10 = 60

= 60

10 x 6

= 10

24

4

1 90 + 10 = 9

10 + 10 =

5

4 x 10 = 40 3

= 63

1

10 =+ 10 =

5

18
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Multiplying and Dividing (B)

= 10

O P, OO0 N O W = b= = O

= 10

Calculate each product or quotient.

10 + 1 = 6 x 5 = 9

40 + 4 = 1 =+ 1 = 9

12 + 4 = 12 + 6 = 9

7 + 7 = 2 + 1 = 2

30 + 3 = 48 + 8 = 50 -
9 x 9 = 3 + 1 = 30 =
6 x 1 = 8 x 2 = 10

3 + 1 = 16 + 8 = 6

16 + 8 = 10 x 6 = 48 -
72 + 8 = 4 x 4 = 4

45 + 5 = 9 x 5 = 5

4 x 7 = 3 x 1 = 10 -
9 x 1 = 70 + 10 =

5 + 5 = 5 x 10 = 2

9 x 3 = 40 + 4 =

35 + 5 = 1 x 9 =

27 + 9 = 8 + 4 = 21 =
30 + 6 = 5 x 5 = 42 -
4 x 2 = 8 x 10 = 32 -
6 x 1 = 15 + 3 = 2

12 + 4 = 10 + 2 = 50 =
5 x 2 = 5 x 7 = 9

4 x 9 = 40 = 8 =

1 x 3 = 1 x 1 = 4

20 + 2 = 40 + 5 = 8

80 =

16 -

40 =

I I NS N S N =

—_
o

O P O N Ul ©O b N9 9 & W O 0 N
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Multiplying and Dividing (B) Answers

Calculate each product or quotient.

9 x 10 = 90

30

72

10

40 =+

90 + 10 =

63

14

= 40

10 x 4

= 40

10 x 4

16

2

18

= 60
= 16

10 x 6

2

4 x 10 = 40

35

10

10 x

10
12

80 +

70 + 10 = 7

9

1

30 + 10 =

10

40 =+

27

4

40 + 10 =

18

18

2

20 + 10 =

72

20 +

= 30

10 x 3
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Multiplying and Dividing (C)

16 =

10

72 =

10

30 =

14 -

10 -

10

70 =

21 =
20 =

10

N U1 NN U R W NN NN O Wl o

Calculate each product or quotient.

2 x 5 = 6 x 6 = 2
40 + 4 = 18 + 9 = 40 -
2 x 6 = 2 x 8 =
6 x 3 = 20 + 10 =
7 x 4 = 9 x 8 = 10
7 x 5 = 40 + 4 = 27 -
1 x 9 = 9 x 8 = 40 =
24 + 3 = 6 x 7 =
6 x 9 = 7 x 9 =
72 + 9 = 90 + 9 =
3 x 10 = 6 x 4 =
48 + 6 = 12 + 2 = 10
10 x 6 = 18 + 6 = 6
18 + 6 = 9 x 3 = 2
81 + 9 = 36 + 9 = 8
10 x 5 = 70 + 10 =
5 x 6 = 72 + 9 = 18 =
6 x 3 = 16 + 2 = 10 -
36 + 4 = 2 x 7 = 2
9 x 2 = 1 x 8 = 9
5 x 10 = 5 x 10 =

x 8 = 1 x 7 =
90 + 10 = 3 + 1 = 50 =
56 + 7 = 32 + 4 = 7
90 + 10 = 40 + 5 = 5

18 -

O 00 W U1 O DN U1

—_
o

= U1 U1 O W O N U O W 0O N W w o
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Multiplying and Dividing (C) Answers

16 =

10

72 =

10

30 =

14 -

10 -

10

70 =

21 =
20 =

10

4 = 4
9 =36
10 =100
2 =10
8 = 9
5 =50
3 =24
3 =10
5 =10
2 =7
10 = 30
10 = 1
6 = 36
7 =70
3 =18
9 =54
7 =21
7 = 42
7 =10
3 =
1 =
5 =10
7 = 3
5 = 4
7 =70

40 =

RN NN O

24 -

72 -

48 =

10

18 =
81 =

10

36 =

90 =
56 =
90 -

N-hwoxmooxoxoxgxoowom-bwox-bm

= = =
o N o & o

= 10 6 x
= 10 18 =+
= 12 2 x
= 18 20 =
= 28 9 x
= 35 40 =+
= O 9 x
= 8 6 x
= 54 7 x
= 8 90 =
= 30 6 x
= 8 12 =+
=60 18 =+
= 3 9 x
=9 36 +
=50 70 =+
=30 72 +
= 18 16 +
= 9 2 X
= 18 1 x
= 50 5 x
=72 1 x
=9 3 =
= 8 32 +
=9 40 =+

6
9
8

—_
(a)
I

O W O N B O O N 0 B~ ©

—_
()

0 N DN WO

10

S B

Calculate each product or quotient.

36
2
16
2
72
10
72
472
63
10
24

27

O O W

40 =

10

27 =
40 -

10

18 -
18 -
10 -

50 =

O 00 W U1 O DN U1

—_
o

= U1 U1 O W O N U O W 0O N W w o

14

12
50

18

20

24

42

N W O =

14
54

18
10
35
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Multiplying and Dividing (D)

63 =

15 =

10

24 =
24 =

14 -

10

12 =

16 -

Ul = O

15 =
54 -

10

5 o w w N0 O A R W e

= = O A W0 O Ul N O

Calculate each product or quotient.

18 + 3 = 40 + 10 =

6 + 6 = 1 x 3 = 14 -
12 + 2 = 7 x 4 = 5
36 + 4 = 2 x 5 = 81 -
10 + 2 = 5 x 3 = 7
40 + 5 = 6 + 3 = 25 =
6 x 6 = 36 + 4 = 40 =
10 x 10 = 1 x 6 = 60 -
8 + 4 = 10 x 4 = 4
6 x 10 = 63 + 9 = 8
72 + 9 = 12 + 6 = 5
35 + 5 = 5 x 9 = 4
56 + 8 = 40 + 5 =

60 + 10 = 40 + 4 = 3
54 + 6 = 6 x 7 = 30 -
10 + 1 = 9 x 2 = 12 -
10 + 1 = 54 + 9 = 8
6 x 2 = 4 x 6 = 6
8 + 8 = 9 + 3 = 9
7 x 5 = 10 x 7 = 54 -
27 + 9 = 9 + 3 = 10
6 x 4 = 10 + 1 = 12 =
56 + 7 = 9 x 5 = 30 =
9 x 6 = 6 x 5 = 5
5 x 1 = 4 x 6 = 60 -

40 =

56 =

10

W W A O R, NN T

=
o o
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Multiplying and Dividing (D) Answers

63 =

15 =

10

24 =
24 =

14 -

10

12 =

16 -

Ul = O

15 =
54 -

Calculate each product or quotient.

9 =7 18 -
7 = 35 6
10 = 30 12 =
1 =7 36 =
3 =5 10 -
4 =40 40 =
4 = 6 6
6 = 4 10
8 =72 8
7 = 2 6
10 =100 72 =
= 2 35 =
=5 56 =
6 = 9
10 = 90 54 -

= 18 10 =
= 6 10 =

= 25 6
= 9 8
7

= 6 27 =

= 16 6

= 1 56 =

= = O A W0 O Ul N O
Il
()

60 -

40 =

O U1 DN A DN O W
I
o U1 © O kO
O U1 NV N -
X

10 =100 1 x

10 = 60 63 =+
9 = 8 12 =+
5 =7 5 x
8 =7 40 =+
10 = 6 40 +
6 = 9 6 x
1 =10 9 x
1 =10 54 =+
2 =12 4 x
8 =1 9 =+
5 =35 10 x
9 = 3 9 =+
4 =24 10 =
7 = 8 9 x
6 = 54 6 x
1 =5 4 x

—_
o

O Ul Ul P W N WO O NI » Ul OO O O b W W Ul & W

28
10
15

40

45

10
42
18

24

70

10

45

30
24

40 =
14 -

81 =

25 =

40 -
60 -

56 =

30 =
12 =

54 -

10

12 =
30 =

60 -

10

W W A O R, NN T

=
o o

50

= 00 O U1 U1 O

10
16

30

32

24

40

10
50
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Multiplying and Dividing (E)

10

72 =
90 =

42
80

36

40 -

80

12
20
12
30

16

25 -

|
BN W PP, 0 Ul O W W 3 0

X
—_
e}

|
U1 N O Ul A DN

Calculate each product or quotient.

40 + 8 = 4 x 7 = 6 x 8
3 x 8 = 8 x 8 = 8 =+ 8
21 + 3 = 8 x 2 = 2 x 10
18 + 6 = 25 + 5 = 9 x 10
21 + 3 = 3 x 4 = 100+ 10
1 x 6 = 9 x 6 = 6 + 3
50 + 5 = 10 x 9 = 35 + 7
3 x 7 = 1 x 10 = 16 + 8
30 + 10 = 10 + 1 = 6 x 10
6 + 2 = 5 x 1 = 18 + 3
9 x 5 = 18 + 3 = 1 x 7
6 x 6 = 1 x 6 = 60 + 10
21 + 7 = 10 x 3 = 10 + 2
24 + 3 = 40 + 4 = 72 + 9
16 + 4 = 48 + 6 = 1 x 3
3 x 6 = 27 + 3 = 4 + 1
7 x 6 = 81 + 9 = 18 + 6
4 x 1 = 3 x 6 = 8 x 4
7 x 10 = 12 + 3 = 8 + 2
4 x 7 = 8 + 1 = 4 x 1
49 + 7 = 2 x 2 = 5 x 7
18 + 2 = 6 x 9 = 28 + 7
42 + 6 = 7 x 9 = 42 + 7
20 + 4 = 80 + 8 = 1 x 3
14 + 7 = 5 x 1 = 8 x 4

Math-Drills.Com




Multiplying and Dividing (E) Answers

10

72 =
90 =

42
80

36

40 =

80

12
20
12
30

16

25 -

x 3 = 30

= 10
= 42

= 10
= 16

= 10

|

BN W PP, 0 Ul O W W 3 0
1l
@0

X

—_

e}
I

80
= 10

= 36

= 81

I

Ul D O U1 BN
I
Ul

= 15

40 =

3

21 =
18 =
21 =

1

50 =

3

30 =

6
9
6

21 =
24 =
16 =

e B NN B OV

49 =

42 =
20 =
14 -

8 = 5 4 x
8 = 24 8 x
3 =7 8 x
6 = 3 25 =+
3 =7 3 x
6 = 6 X
5 =10 10 x
7 =21 1 x
10 = 10 =+
2 = 5 x
5 =45 18 =+
6 = 36 1 x
7 = 3 10 x
3 = 40 =+
4 = 4 48 =+
6 =18 27 =+
6 =42 81 =+
1 = 4 3 x
10 =70 12 =+
7 =28 8 =+
7 =7 2 x
2 =9 6 x
6 = 7 7 x
4 = 5 80 =
7 = 2 5 x

O O H» U1 DN 0

—
o

= 00 O O N P WO © WO WO W R -

Calculate each product or quotient.

28
64
16
5
12
54
90
10
10
5

30
10

54
63
10

6 x 8
8 + 8
2 x 10
9 x 10
100 + 10
6 + 3
35 + 7
16 + 8
6 x 10
18 + 3
1 x 7
60 + 10
10 + 2
72 + 9
1 x 3
4 + 1
18 + 6
8 x 4
8 + 2
4 x 1
5 x 7
28 + 7
42 + 7
1 x 3
8 x 4

48

20
90
10

WA wWwo vl N T v ooN

N NN NN

32
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Multiplying and Dividing (F)

= Oy W O

28
28

56 =

10

30 =

24
10

32
30
20

30 =

18
25
16

|
N DN U O 0O L, OO UT UT OO BAAW

Calculate each product or quotient.

42 = 7 = 8 + 8 = 1
4 x 5 = 54 + 6 = 48 -
7 x 4 = 56 + 8 = 6
4 x 1 = 18 + 6 = 4
56 + 7 = x 7 =
4 x 3 = x 5 =
10 x 8 = 15 + 3 = 10
24 + 4 = 90 + 9 = 1
1 x 8 = 3 x 10 = 9
6 x 1 = x 1 = 12
5 x 7 = 14 + 7 = 24
45 + 5 = 12 + 3 =
1 x 2 = 10 x 10 =
10 x 1 = 27 + 3 =
50 + 10 = 5 + 5 = 10 -
4 x § = 1 x 1 = 1
1 x 9 = 10 x 5 = 14 =
9 x 8 = 28 + 4 = 60 -
5 + 5 = 56 + 7 = 80 =
10 x 8 = 27 + 9 = 6
x 4 = 48 + 8 = 7
x 9 = 2 x 1 = 3
30 + 5 = 8 + 1 = 32 =
9 + 3 = 18 + 9 = 28
5 x 6 = 27 + 3 = 1

x 10

|
= = U1 O Wk O

|
A BN U1 W O
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Multiplying and Dividing (F) Answers

= Oy W O

28
28
56

10

30 =

24
10

32
30
20

30 =

18
25
16

Calculate each product or quotient.

x 6 =54 42 + 7 = 6 8 + 8 =1 1 x 3
x 3 =9 x 5 =20 54+ 6 =9 48 + 8
x 4 = 24 7 x 4 =28 56+ 8 =7 6 x 10
x 10 = 10 4 x 1 = 4 18 + 6 = 3 x 8
+ 4 =7 56 + 7 = 8 2 x 7 =14 x 1
+ 4 =7 4 x 3 =12 1 x 5 =5 x 9
+ 8 =7 10 x 8 =80 15+ 3 =5 10 x 10
x 4 =24 24 + 4 = 6 90 + 9 =10 1 x 9
x 9 = 90 1 x 8 = 8 3 x 10 = 30 9 + 1
+ 10 = 3 6 x 1 = 6 9 x 1 = 12 + 3
+ 3 = 5 x 7 =35 14 + 7 = 2 24 + 6
x 4 =40 45+ 5 = 9 12 + 3 = x 5
x 6 =42 1 x 2 = 2 10 x 10 =100 1 + 1
+ 4 = 8 10 x 1 =10 27 + 3 = 9 8 + 1
+ 6 = 5 50 + 10 = 5 5 +5 =1 10 + 10
+ 5 = 4 x 5 =20 1 x 1 =1 1 x

x 5 =45 1 x 9 =9 10 x 5 =50 14 + 2
+ 6 = 5 x 8 =72 28 + 4 =7 60 + 10
x 6 = 54 5 + 5 =1 56 + 7 = 8 80 + 10
x 1 =5 10 x 8 =80 27 + 9 = 3 6 x 9
x 8 =56 3 x 4 =12 48 + 8 = 6 7 x 3
+ 9 = x 9 =45 2 x 1 = 2 3 x5
+ 5 =75 30 + 5 = + 1 =8 32 + 4
+ 2 = 9 + 3 =3 18 + 9 = 2 28 + 4
x 2 =10 5 x 6 =30 27+ 3 =9 1 x 4

35

O O N N~k 0 B

54
21
15
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Multiplying and Dividing (G)

Calculate each product or quotient.

8
80 +

100 + 10

81 =

20 + 10 =

48 =+

21 +

54 =

30 +

20 +

36 +

15 =+

54 =

10 =

X

10 =+

27 +

10 x

45 +

7 x 10 =

32 +

35 =+

70 + 10 =

9 x 10 =

35 =+

36 +

X]_O:
40 =+

16 =+

10 x 2

12 =+

36 +

40 =

28 +

72 =+

32 +

54 =

27 +

70 = 10 =
36 +

90 =+
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Multiplying and Dividing (G) Answers

Calculate each product or quotient.

18
2
24

9 100+ 10 = 10 8

81 =

=10 20 + 10 =

= 70

80 +

72

10 x 7

7

28

10

20 +

12

2 x 10 = 20

= 10

3 7 x 10 = 70

27 +

15

5

= 50

10 x 5

10

7

70 + 10 =

90

9 x 10

= 20

10 x 2

3

12 =+

12

18
56

30

10

90 =+

Math-Drills.Com




Multiplying and Dividing (H)

30 =
12 =

10 -
54 =
40 =

12 =

50 =

10

10

15 =
36 -

12 =

N W R, OV U I O W wN

[
W o

Calculate each product or quotient.

20 =

5

40 =

6

35 =

1

0 O 0 N O

60 -

5 =

—
(a)
I

I
O© O 9 N W U1 »
X

= 90 =+

= 32 +

= 48 =+
= 81 =+
= 50 =+
= 10 x
= 10 x

N U1 DD 0O WD OO OO O O R =R U UL O
]
N R T
X

O© O O P W O = O B

—_
o

SN 00O 0 W IN

= 10

N N S~

60 -

O

10

U1 O U1 U1

10

24 -

81 =

24 =
50 -

25 =

10

= =
o P 9 o

_ NN = U=

=
o o

0 O U1 © 9 0O »~ O W

[N
()
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Multiplying and Dividing (H) Answers

30 =
12 =

10 -
54 -
40 =

12 =

50 =

10

12 =

10

15 =
36 -

Calculate each product or quotient.

1 =9 20 =
9 =72 5
10 =

= 6

w O O U1 0 W
I
= U1 O DN 0 W

O H»H O B

10 = 80 54 =
2 = 6 2
3 = 3 28 =
3 =5 16 -
9 = 6
7 = 42 6
6 = 48 1
5 =10 15 =
2 =12 12 -
6 = 60 9
1 =6 2
3 = 4 8
7 =7 8
1 = 2 9
10 =100 8
3 =1 60

40 =

35 =

5 = 4 4 x
10 = 50 5 =+
5 =8 3 x
8 = 48 7 x
5 =7 7 x
5 =5 9 =+
1 =9 9 =+
1 = 4 90 =+
9 =81 4 x
9 = 6 32 +
2 = 4 10 x
4 = 4 x
8 = 4 x
8 = 48 6 x
6 = 36 8 x
2 = 1 x
3 =5 48 +
4 = 3 81 =+
8 =72 50 =+
4 = 8 10 x
4 =32 10 x
5 =40 8 =+
7 = 63 6 x
4 = 2 7 x
6 =10 60 +

A =

10

—
= © R © &

O© O O P W O = O B

—_
o

SN 00O 0 W IN

10

32
5
12
70
28
1
9
10
40
8
90
4
36
18

U1 © O O

20
30

48
42

N N S~

60 -

O

10

U1 O U1 U1

10

24 -

81 =

24 =
50 -

25 =

10
10

= =
0 o P NN PR UL R O g RO

0 O U1 © 9 0O »~ O W

[N
()

80
40
42

72

10
16
35

60
50
30
48

64
42

10
81
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Multiplying and Dividing (I)

Calculate each product or quotient.

63 +

30 +

5

9 x 10 =

3

x 10 =

100+ 10 =
10 x

28 =+

9
20 +

40 + 10 =

48 =+

25 +

2 x 10 =

18 =+

2 x 10 =

80 =+

12 =+

21 +

16 =+

18 =+

28 =+

32 +

21 +

27 +
6

90 + 10 =

9
28 +

30 + 10 =

30 + 10 =
20 + 10 =

3

45 +

3 x 10 =

9

14 =+
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Multiplying and Dividing (I) Answers

Calculate each product or quotient.

15
40

10

5

9 x 10 = 90

3

x 10 = 20
100+ 10 = 10

48

18
= 90

9

40 + 10 = 4

6

48 =+

5 10 x 9

2 x 10 = 20

2 x 10 = 20

10

80 =+

30
36

6

9

90 + 10 =

9

3

30 + 10 =

3

21

7
4

3
2

30 + 10 =
20 + 10 =

6
5

3

24

3 x 10 = 30

54

9
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Multiplying and Dividing (])

Calculate each product or quotient.

100 + 10

63 +
6

42 +

8 x 10 =

12 =+

10 x 8

10 x 4

9

64 +

49 =

9

90 + 10 =

42 +

21 +

14 =+

64 +

60 + 10 =

18 =+

70 +

81 =+

20 + 10 =

2

12 +

4 x 10 =

10 =+

18 =+

36 +

54 =+
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Multiplying and Dividing (J) Answers

Calculate each product or quotient.

9 100+ 10 = 10

63 +

27

16
18
54

= 40

9
10 x 4

10 x 8 = 80

3

36

9

72

9

90 + 10 = 9

7

48

10

28
6

60 + 10 =

40

2
4 x 10 = 40

20 + 10 =

14
9

2

18
36
27

48

= 90

10 x 9

27

12
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